N = 1e6
Poisson_1Dp_3p1_Real_4_CFD10_007.out, S(0)

1 T T T T

analitico +

numérico

08

0.6 +++

04 +++++

02 +++

0 02 04 0.6 0.8

Tue Sep 21 13:12:34 2010 X

Poisson_1Dp_3p1_Real_4_CFD10_007.out, S(0)

1 T T T T

09 ~

08

07

06

05

04

03

Erro = analitico - numérico

02 -

01

0 02 04 0.6 0.8

Tue Sep 21 13:11:57 2010 X




Fortran 4.0, Tc, Poisson 1Dp 3.1, DF, TDMA, real*4 x real*8, N = 10, 100, ... 1e8 e 2.5e8

L & =Y
4 3 3
10" o -
3 3
10 -
5 3 3
10 E / 3
b
-7
o 10 3 3
[ 3 —&—R8.CFDO1| 3
' —e—R8.CFD02 [ N
9 R8.CFDO5 | 3
g 10 —v—R8.CFDO7 [ X
] R8.CFD10| 3
L F 1 —<—R8.CFD13 [ M
a1 3 R8.CFD14| 3
107 ¢ 3 —e—R8.CFD19 [
E —*—R4.CFDO1| 3
—e— R4.CFD02 [
13 3 —— R4.CFD05 3
107 o —+— R4.CFDO7 M
3 —x— R4.CFD10 3
—%— R4.CFD13 [—¢
15 7 "/ R4.CFD14 3
107 4 — | —R4.CFD19 |—¢
.
1 2 3 4 5 6 7
10 10 10 10 10 10 10

N

Processadores: Intel Pentium 111, Pentium 1V, Core 2 Duo, Core 2 Quad, Xeon; e AMD Athlon.

Fortran 4.0, Tc, Laplace 2Dp, DF, GS/MG-CS, real*4, Nx=Ny= 33, 129, 513, 2049 e 8193
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